Efficiency vs P,

~ 0.1p - .
o o : :
L 0.00F - f-eeeerieeeeeen s ? T
oy E : :
5 0.08;— -------------------- ........................
£ 0.07F | reerieeeeeens SRR R
o A :
0.06;— -------------------- PP PR
L e e e
0.04FtH{f-- feeesanenenas SR
(Y0 2 1 51 S SRR S e
0.02F 4+ {4 ipereeereees e AN
07050 B 51T ST F e
o l_ug: L L ......! L
T r ]
a4 L
1= 0 O U 0

o
= ©
o¢
N

! 0 18 el

—=— DQM_original_originalvector_1000evt
—e— DQM_original_1000evt
—— DQM_fitted4_1000evt

=0.05
©.045
80.04
o
9.035
5
0.03
0.025
0.02
0.015
0.01
0.005

............................................

.....................................

..................................

Ratio

o

©

Kol

O[T T

|

N

[ e e s e
- : i
o

[

N

w

Efficiency vs @

=
e
T
ki
H
i
+

EEE = = SRR - - - E = = SRR =




	Contents
	Page 1


